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PART -1: MENTAL ABILTTY TEST
{For Student of Class VIII)
bl Marks - G0

INSTRUCTIONS TO CANDIDATES

Fead the following instraction carefully betone you open
the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet.

Time : 90 hinutes

2. There are 90 guestions in thiz booklet All are
compulsory.

3. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet. Do not mark ' or ¢ in the OMR <heel.

4, Since the time allotted for this Question [aper is
very limited you should make the best use of it by

notspending too much time on any one question.

5. If you donot know the answer to any queshion, do not
waste time on it and pass on ko the next one. If time
permits, you can come back to the questions, which
you have left in the first instance and attempt them.

6. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet/ locse paper.

7. Each correct answer will be awarded one mark.

8. Please return the OMR Answer Sheet only to the
frwvigilator after the test. You can retain the Cuestion
Booklet,

9, Quote your seven digit Roll Number without fail for
any futire correspondince.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.

Kindly Send Me Your Key Answer to Our emaitit—Padasataimet@gmail.com
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MENTAL ABILITY TEST / wengdlmsnr Caiay

Direction : (Question Number 1 to 10) : afinpsnp : (sSerm eew. 1 (pHe 10 ausmr)
Find the missing number/ letters in the following Shraugrih Gami auflamsudla ni:le_l_ st e
sequences. mgSgidamens oGy daanu.
1. 9.30,85, 72 1. 9.30.5L 72

(1) 103 (2) 93 (1) 103 (2) 93

(3) 94 (4) 81 (3 94 4 81
2. 5498348, 2. 5.47913 2%,

(1) 36 (2) 42 1) 36 (2) 42

@ 35 (4 29 (3) 35 (@) 29
3. 3412 48 3. 34,12 48, .

1) 576 (2) 675 (1) 576 (2) 675

(3) 412 (4) 516 (3) 412 (4) 516
4. 328, 184, B2, 4. 328 1s4, B2,

(1) 50 @ 28 (1) 50 ) 26

(3 41 (4) 40 @) 41 (4 40

3
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5. 1,49 i6 35, = 5. 1,4.9.16,25
(1) 38 @ 41 (1) 38 {2) 41
(3) 48 (4) 36 (3) 48 (4) 36
1 Z 1
6. -z L -52,_ 6, ==, 1, =52
2 \
(1) 125 (2) —125 (1) 125 2} —125
@ 75 @) —75 3) 75 (4} —75
7. 5L A7 o S0 11, 23, 47, =
(1) 87 (2} &5 (1) 87 (2 85
(3 97 (1) 95 (3 97 (4) 95
& LEBGL. B. A DG,
(1) M () N 1 M 2) N
3 0 (4} P 3 O 4y P
9. AZ CX, EV, IR 9. AZ, CX, EV, , IR
(1) HR (2} GT (1) HR (2) GT
(3 G5 4) HS {(3) GS (4) HS
4
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11.

12.
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Y, 5V, 17], 26A
(1) 128

(2 7R

{3) 10Q

(4) 10E

“Gun” is related to “Soldier”. In the same
way “Needle” is related to

(1) Tailor

(2} Thread

(3] Weaver

(4] Sewing Machine

“Wan" is related to “"Child” then "Cow"
is related to :

(1) Calf

(2) Bullock

(3) Cub

(4} Milk

10.

11.

12,
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2Y, 5V, 171, 264
(1) 125
2) 7R

(3) 10Q

(4) 10R

“Gun” ererug  “Soldier” sETU L 6T

Ghm_fsme g smaflsy, “Needle” semug
2 Lar Qamfysml i)

(1) Tailor

{2) Thread

(3) Weaver

{4} Sewing Machine

“Man” eramug  “Child” o Lar
GEm_fymLLg el “Cow” aerug)
srargmesim Glsm_iysme gy 7

1) Calf

(2} Bullock

(3} Cub

(4) Milk
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Direction : (Question Number 13 to 16)

There is some relationship between first two
given words/ letters/ numbers. Find the other
one from the given alternatives having the
similar relabionship.

13. Bufter : Milk : :

(1) Book : Paper
{2) Paper: Book
{3) Book : Colour

(4) Book: Pages

14. Water: Pipe:: Blood : __ ?

(1)  Artery
(2) Heart
{3} Brain

(4] Bone marrow

15. A:E::1: '

1Y (2} 2

(3) © 4 B

www.Trb Tnpsc.Com

aflpenm © (ellerm e, 13 gpge 16 susnr)

(el o siver Erain( aumiges/ mwHe/
ereun & (g5 AL G gGagud @ Gsruify
agrerg. s G@r_fildér gueiumi i
Gar@ssiu’ L Asfusaidlpis Gurmss
garsring GaiklsGissngh,

13. Butter : Milk - ;

(1) Book: Paper
{2}  Paper : Book
(3} Book : Colour

(4] Book: Pages

14. Water : Pipe::Blood: _ ?
(1} Artery
(2} Heart
(3} Brain

(4] Bone marrow

1%. A:EB::1: 7
{1 Y 2y Z

@3) O 4 B

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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17,

www.Padasalai.Net

gl T
1y 9 {2y 11
(M 5 (4) &

The missing letters in the sequence
a_ab_ba_ab is :

(1) bba (2) bab

(37 aab (4) abb

Direction : (Question Number 18 and 19)

Find the item which is not associated with

others.

18.

19,

(1) Dharmapuri
{2} Kanyakumari
(3} Ramnad

(4) Cuddalore

(1) + 2) -

@ x (4 =

16.

17.

www.Trb Tnpsc.Com
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D@y
m 9 (2) 11
(3) 3 4 &

a_ab ba_ab esrm G@refa efEule
61 (L85 S T

(1) bba (2} bab

(3) aab (4) abb

auflgpenm : (aflewrn e, 18 whmbd 19)

&Gy CerfGésiu’ Lapdd Capul L mss
e Slig S muD.

18.

19.

(1)  @mnoyf
(2] eshrasthumgiof]
(3)  @wmoErsgma

(4) s

1 + I

(3 = 4 *

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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20.

21.

22,

If ‘rain’ is called "water”, “water’ i called 20.

‘sea’, ‘sea’ is called “cloud’ then what do
we drink when thirsty ?

(1) water (2) sea

(3)  cloud (4] rain

If ABC is coded as 262524 and XYZ is 21.

coded as 321 then PQR is coded as -
(1) 161718 (2} 181716

(3) 11109 (4) 91011

If "Cup Of Coffee” means COC, ‘Coffee Is 22,

Tasty’ means CIT then ‘Creamy Tasty
Biscuil’ means :

(1) BTO (2) CTB
(3) CBT (4) COT

236100
AB=0, BC=2, CD=6 then ABC=7 23,
(1) 3 2y 2
(3 o (1) &

www.Trb Tnpsc.Com

‘rain’ fTeTUE water’ sTemsuld, ‘water’
STENLIG) ‘soa’ eTemrsilD, ‘sea’ sramug “cloud’
AR ympEsiulLTd  gren
QO TE T TRETF T Ty

.

(1) water (2) sea

(3] cloud (4)  rain

ABC meiug) 262524 stafmayln, XYZ qsirug
321 sremayd @il Cun’ s mi POR srstmLg; :
(1) 161718 (2) 181716

(3 11109 (4) 91011

‘Cup Of Coffee’ eeliug COC  smamah
‘Coffes Is Tasty’ ﬂ'ﬁruﬂ CIT srswraupnd
aﬁ'ﬁﬁl‘j’ aﬁﬂ'ﬁl’ﬂﬂ:ﬂ.l;l_ﬂfﬂ 'C]:'Eﬂm}' Tag.hrl.'
Biscuit’ sTebTLAS -

{1y BTO (2) CTB

(3) CBT (4) COT
AB=10, BC=2, CD=6 maflds ABC=?

3 (2) 2

(3 0 (4) &

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

24.

25.

26.
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The logical right sequence of the four 24.

words given below :

Learn, Exam, Result, Book

(1) Result, Exam, Book, Learn
{2) Book, Learn, Exam, Result
(3} Exam, Learn, Result, Book

(4) Book, Exam, Learn, Result

The right alphabetical order of the four 25.

given words :

corporation, collar, coin, column

(1) collar, column, corporation, coin
(2) coin, column, collar, corperation
(3}  column, coin, collar, corporation

(4) coin, collar, column, corporation

Choose one word that cannot be formed 26.

from the letters of the word ‘objection’.

cautiom

(1) object (2}

(3] mnet (4) et

www.Trb Tnpsc.Com

[COpE[vi] 1 | 20 |

£CyGlEmRasi (Reiran 4 i sengsafisin
(psmmuimes surflame :

Learn, Exam, Result, Book

(1) Result, Exam, Book, Leamn

{2) Book, Learn, Exam, Result

(3) Exam, Learn, Result, Book

(4) Book, Exam, Learn, Result
00195¢

@an(pissiul L I e Gendssfia
Syt ymqnd asflms ;

corporation, collar, coin, column

(1) collar, column, corporation, coin
(%) com, column, collar, corporation
{3) column, coin, collar, corporation

(4) coin, collar, column, corporation

‘objection’ ey st Hmsuilss e smar
TphsSsd ppabh o mards Buarg

ELITTT 60, ©
(1) object {2) caubion
(3)  net (4) et

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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-

28.

29,

3.

Identify the meaningful word in the
following shuffled word : nescod

(1) second (2} note

(3} noise (4) score

The fourth lstter to the right of fifth letter
from the starting in the English alphabets
is

(t 1 21 1

3] H 4) E

The number of 7's preceded by 9 and also
followed by 6 in the series 89679756976

15

(1 2 (2) 0

(3 1 4) 3

Which of the following is the greatest
number ?

(1) (3x3x3)2 (2} (3+3+3)2

(3) 34324352 ) [3+3

a7.

28,

29.

10

www.Trb Tnpsc.Com

nescod wavm  wrhiflemodsio L
SWHSESA ppan 2 marassiuEn

ST SB(PETET i om :
{1} second (2) note
(3)  noise (4) score

b awhs wflmellda ofsmug
susdelmis wng udmb o drer
[T S TaE TG -

{1 1 (2) ]

(3) H (4) E

B96T9756076 e sreier Gmmdish 9-g
Clamiifs wpph 6-g@ Sarergrsds

Cearstir. 7—mafle sretereniisms -
(1} 2 (2) 0
i R (4 3

Sipasmena eredrmatled Guifiug s ?

(1) (Ax3x3)? () (3+3+3)2

3 343+ (4 [(B+2P

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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1.

3.

33,
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A student ranked 12 from the top and
2374 from the bottom in a class., The
number of students in the class is

31

(1) 34 (2) 35

@ 32 4 11

If the day before vesterday was Friday, 32.
then the day after tomorrow is :

(1) Sunday
(2) Tuesday
(3) Monday

(4) Wednesday

A man starts walking from his home 33,
northward a distance of 30 mts, He then

took a half turn towards right. The
direction in which he walks now is :

(1) South-East

(2) North-West

(3) MNorth-East

(4) South-West

11
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& auGlilld o star remaTsafa g
wremrsuflenr &Moo Gusblmis 12-0
B pdgun, £finis 23-aum G Shan
Bmigrd sfte auglfa o e
LONT BT BT 6T JaT 6T sl sl emes; -
(1) 34 (2) 35

(1) 32 4 11

Crppmpu SarsAne yromsu Sarb
Geusraflsflpmsire Brksmsy Eranemu
DMV :

) Sl

(2)  Gedmumilpenn

(3)  Sitis dygemia

(4)  upeTdigsni

S el yerg) o iy slimEs an ms
Gremaghl 30 B, g m . symeir Searsom
sueng  Ussoms 457 Game S
Smoydlprt  sofld, sei Bk
Gesretim (& gih e |

(1) Clestrdlpde
(2) e Gupe
(3) o diypie,
(4)  eir Cuis

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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34.

35.

ar.

A boy rode his bicycle northwards, then
turned left and rode 1 km and again
turned left and rode 2 kms. He found
himself exactly 1 km west of starting point.
The distance travelled by the boy in the
northern direction is :

(1} 3 kms (2) 1km

(3) 2kms (4) 4 kms

A man has ¥ 64 in ten rupes, fifty rupee
and hundred rupee notes of equal
denomination, The total number of notes
are :

(13 120 (2) 100

(3) 110 (4) 115

The square root of 36 £ is
(1) 6x° 2} 6 a2
(3) &xl2 (4)  6.x'8

I "all the child are men” and "all the men
are women® then :

{1} all the men are child
(2) all the women are child
(3) all the women are men

(4) all the child are women

34,

35.

36.

ar.

www.Trb Tnpsc.Com

dlsusmauilis o dfmada Gesm
Glasimasamg (it G FlmueueT L&) LS
Eerini§) 1 £LE Clrgngy) Seiram wgriipih
BlLg usen i 2 b Geshdimasin,
inE Speds sphburg GSrLfiEo
@ &Sl mia Cubdli 1 £lab. grrgden
BEiugrs sfidprer aafla, -
dlenafley Feyeusit LusRflSE grma :

(1} 3 &b (2) 1&uf

(3) 248 (4] 44K

sy erflggii T 6,400 - Lihggl emumi, giug)
epumill whgd BAD epumis Gemn_ G
Fu sramaismaulli mausg @ bsm,
geufiLligis Curés Gum’ (5idssflsr

ST ST R

(1) 120 (2} 100
(3 110 (4) 115
36 179 GTETLGET sufdseLpsuld |

(1) 621* 2y 612
(33 B2 ([4) 6 x'8

“all the child are men” IIE[I@.I] “all the men
are women" sTesTlD

(1)  all the men are child
(2) all the women are child
(3} all the women are men

{4y  all the child are womnen

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

38.

39.

40.

41.
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H 5+6A7=23 then:

(1) *is +,41is +

(2) #is x,Ais —

(3) =is+,Ais +

(4) *is —, Ais x

BF*+"is =", % s *+" then (8+5) %3 is :

n 2 2) 3

3 1 4 4

If'—"is "+ " and "+ " is*' %’ then 16 £5-5

(1) 85 (2) o0
(3) &0 (4) 45

If 2#3=5, 7*4=11 then 6*4 =

(1} 1.5 (2} 2

(3 10 (4) 24

38,

39.

40,

41.

13
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26 AT =23 qrafle :

(1) = srebrugd +, A eveiriigy +
(2) = odTug ¥, A aeiug -
(3) = ereug +, A erarug) +

(4) = eTéTUS —, A eTETLIGY

4+ eTeLE) C~ Wil (%" eTeRTugy (4
srarfln, (B +5)x3:

(1) 2 (2) 3

(3) -1 4) 4

J_r“m' EI |l+|l L] A .-_:p FI'EI!I'I!'I. III.H.-
sraafléd, 16+5-35 :

(1) 85 (2) 90

{3) 80 (4) 95

2#3=5, 7rd = 11 ereufles, 654 =
(1) 15 (2 2

{3) 10 (4) 24

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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42,

43,

44,

The angle between the hour and minute 42.
hands when the time is 3 hours 30 min, is ;

(1) 60° 2y 7

(3 70° (4 75°

A mirror is placed in front of a clock. The 43,
clock ime shows 12 hours (05 min. The
reflecton in the mirror shows §

(1} 1 hour 50 minutes

(2) 11 hours 50 minutes

(3) 1 hour 55 minutes

{4) 11 hours 55 minubes

Manju was born on 29.02.1984. How
many birthdays would have been
celebrated by her upto 2020 ?

44.

(1 9 (2} 8

(3 36 (4) 4

14
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EEmd 3 weefl 30 Hdsams Gmaeh
Gurgl, B PlaEnSEn Gl UL
Gasmewmi ;

(1) 60° @ 77
@ 700 4 75°

s sparmidan Crrorarg 12 wenfl
05 [EAfiL1oms Sm’ (DS, Sy sy dEs
[psir ssiramrmp s Gurggen Gumg
et ooy Bl sbidgnin Grmi :

(1) 1 weoefl 50 Ehbh e

(2) 11 we 50 Fhb_ruseir

(3) 1 woemfl 55 Fufh_rsmser

(4) 11 wewfl 55 Ehbi_rmer

wEs 29.02.1984 b Simegsimenm srarfls,

i 2020 oy aFsmer Spks
L Genatd Glasmarmpuds i ?

1 9 (2) 8

(3) 36 4 4
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45.

46.

47.
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A is brother of B but B is not the brother of 45.

A. What is the relation between Aand B ?

(1) A-Brother, B-Brother

(2) A-Sister, B-Brother

(3)  ASister, B- Sister

{4) A-Brother, B-Sister

The number of numbers divisible by 9 and 46,

A betwween 1 to 100 15 ;

(1) 10 (2) 5

(3 11 (4) &

Which of the following is a composite  47.

number 7
{1y 1 () 3
3 2 4) 4

15

www.Trb Tnpsc.Com
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A srewusuit B eretrusufles sGesm s
sysmmey B oererusud A srsmrusuflsh
sGangren gea aaflid, A oppon B
S EIGumifleir 2. mayipen :

(1) A= sGangrsir, B—sGsngrsn
(2) A-aslangf, B-sbargrer
(3)  A-sGengfl, B-sCargf

(4) A-—sGamgrer, B-sharsfl

1 (pgsn 100 susmyull spsmer e stor & efley
9 wpmb 6 gy AGUEID st
sragmmamf e ;

() 10 (2) 5

(3 11 4 6

e (Bl L sTeimaaTisl L sTsoor e 7

1y 1 ) 3

(3 2 (4 4

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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48,

49,

50.

Which of the following is a middle-

number i the i mbers
%-2-.. 1.732, 4, 141. Eﬁ when written 1n

ascending order ?

i7 22
M @ =
3 4 28
(3) ST
H4xB=16: Axb6=9: bxwe=153 then
e
(1} 2 (£ 3
{3} & 41 1

If 12+4=8; 9+4=5;7+5=2 then the
meaning of the operator + is

(1} subtraction

(2} addition

(3}  multiplication

4y  division

48,

49,

50.

www.Trb Tnpsc.Com

l'l?’l?ﬂi% E—;ﬂ,&]u 16807 &5 ST
ereestiemendlen sTpgin Gumg,) EHaikl aymin
sTsOar 6T 7

g ¥ N2

I 3 L —

3 4 4 +

(3 4 3
4x%8=16; 3x6=9; 5x6=15 eafla
LX3=

(2 {2y 3

(3 8 14 1

12+4=8: 9+4=5; 7+5=2 qeafish +

sréir g oy g :
M =Pss 007962
(2] &nlles

(3 Glugydesn

(4] sumsmen
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Diirection ((Juestion Number 51 to 55) :
Find the missing number /letter in the following

www.Padasalai.Net

diagrams.

52.

a3,

L

(1) & (2 22
(3) 28 (4) 35
23| 1 27| 2 1
7 4 5
54 5|6
1) 9 ) 21
3 7 4y 16
2 i 3 2
1 f 2 10
8|4 5
1) 10 (2} . 6
(3) 8 (4) 12
11 4

17
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aufiupen : (efleorm ereter. 51 pmed 55 susr)
arEidain’ L L fisafls afGL L ersmmsmamr/
pEemg s aenor(Giilp Hemeh,

51.

52.

53.

54,

@ G

(1) 8 (2)/ 22
(3) 28 (4) 35

[ 1 7] 2

7 7 4

54 56
(1) (2} 21
@ 7 (4) 16

1|3 2|z al1]2
2|6 1|5 2|2 [0
503 s 7215
(1 1 2y &
(3) 8 4} 12
i 5 .‘-s/\:-:
(1) 5 2] &
(3 2 4 1
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55, G 10V nu 55. oW 11 11y
BRY 7X 1218 8w 13T o 1% X 1720 BW 13T 7y
13U 5Y 14T 6X 155 ? 13U 5Y 14T &X 155 ?
3z 1Y 5Y 3Z 4Y 5X
1y 7Y (2) &Y (1) 7Y (2) oY
(3 6w (4) W (3 6W (4 TW
Direction : {Question Number 56 to 58) suflppeng - (eflsorm eTeter. 56 (p@e 58 suswy)

Select the diagram from the given four diagrams Garpssin L Gemsiyss 2 i e gdnear
which illustrates the relationship between the Gl (B ame)ih.

classes,

56. Class : Odd numbers, Even numbers, 56. Gemsly @ sbhmplum T 6T &5 61T,
Numbers (EmCsm_LILIemL_ TETET AT, ETEHT e
(1) (1)

o (0 o (I
(3) @ (3) @

@ QOO w OO0

18
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57.

58.
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Class : Quadrilaterals, Triangles, Lines 57. Glmmging @ mrmsrmhss, (pbGamsmmssr,

(1)

CanGise

@ (1) @

& OO0 @ OO0

o (LD o (LD

. () . (@0

Class : Food, Vegetables, Carrot 58, Glemsy : o eera), smispisst, Gam
o (D o (LD

(2) O (2) O

(3) (3)

o (© o (©

19
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Direction ! (Question Number 59 to &3)

in the figure given below, there are three
intersecting, circles each represents Electricians,
Artists and Singers. Different regions are
marked as 1 to 7. Read the statements in each
of the following question and choose the correct

BNSWET.

Electricians ;
Artists

59. Electricians who are artists and singers |

1) =2 (&3 B

B 7 (4) 4

60. Omnly artists represent the region :

y 2 2 a

B 7 4 5

www.Trb Tnpsc.Com

auflppanm : (aflarn ereder. 59 psd 63 aemr)

u_ddier  ppsy Genfhd el RiseT
speuClaumsmmpd @ifiig sirathus) sudbgustser,
EEMEETTEET, DRI LA &ifsealT Spi0. 1 (pasd
7 @ GagullL UgSlser s iu’ G,
GlasmBdaiiun’ L S IEENT SOISTIONS L&)
aflsmLwatiEsan,

LiFL_ST&ET

59, memeuphiT oMM UnL sdsenes (@i

s eafliisl) euBDEE ST :
{1y 2 2y 5
2 7 4 4

60.  mensngiasman Lo (B0 (SR ED L ;
i 2 2) 3

& 7 (4 3
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61,

6.

63.
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Singers who are not electricians and 61.
artists :

(1 7 (2 4

(3 5 4 &

Artists who are electricians but not 62,
singers ;

(1y 2 2y 3

(3) 5 4 7

The region 7 represents - B3.

(1}  The people represents all the three

{2) Artists who are electricians

{3}  Singers who are artists

{4} Electricians who are singers

21
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\eirenfliusl eusdguEd 5 T8 6L (6 1 T
SYSSUTE LT st -

(1 7 (2 4

(3) 5 4 &

LITL el Sysheonss asmegsii e LD

n 2 (2) 3
{3 5 @ 7

7~ augl @b @S Glaug ¢
(1) sysmemdg) Wﬁmhur@.n

(2} dlereflush  susiguEisdr  whmd
EREEEHIT ST

(3} um_siesr HpKD semeEsTassir

4)  dilerefiod s gumfser Lo
LITL_ sl ST
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Direction : (Question Number 64 to 68)

Read the given information and answer the

questions.

(i)

(83}

(i)
()
(v

LE

B5.

66,

Five friends A, B, C, D, E are standing in a
row facing same direction.

The position of A, B, C, D, E are not
necessary in the same order.

B is between A and E.
C is immediate right to E.

D iz immediate left to A,

The order of standing position is :
(1) DABEC (2) ABCDE
(3 BACDE (4) CDEBA

Whao is left of D ?
(n A

(2) mone

3) B

4) E

Who is right of D ?
(1) B {2} C

(3 E 4) A

www.Trb Tnpsc.Com

nﬁmnp:{dhiﬂﬁi+ﬁ4@§-ﬁlﬁﬂmﬂil

QarGésiu’ G gsamsmard b
&t gEmD shleor s rhdig ailenl weissan.

(i)

(id}

(1)
(v}
v)

63.

B,

A, B, C, D, E eéivp il meimuissr

gyeuimsr A, B, C, D, E s auflemsihi
e Grustimp.u gsudfinBidemsy.

A nfipes E—fig pHells B e dremm.
C erebrumut F—sir ausogylyndE) & srarm.
D srsmuieui A—sit @ SLmdHled o siamm.

speuflsr Eiigin susflome :
(1) DABEC (2) ABCDE
(3) BACDE (4) CDEBA

D~ @ Cuynib 2 smameurt wari ?
1) A

(2)  emeumlisuemey

(3 B

(4) E

[ — i euRUILDLD & siremeurt it ?

™

(1) B (2)

(3) E 4 A
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67. Whois left of C ?

1) A {2) B

(3) E 4) D

68.  Who is standing in the middle ?

(1) B 2 A

2 B 4 D

69.  The number of triangles in the following

figure is :
(1} & ) 4
3) o 4 2

www.Trb Tnpsc.Com
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67.  C—&ig BILlumb & sramaum wi ?

(1) A (2) B

(3 E (4 D

68,  mbells Hlsiry Clasmedome mlvseut wm ?

(1) B @ A

(3) E 4 D

rugsaf s ersaoremtldens -

(1) 8 (2) 4

(3 6 4 2
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70,

71.

72

The number of squares in the following

figure js:
(1) 4 @ 3
(3) 3 (4) 6

A die is thrown two times and its two
different positions are given below.
Identify the number on the face opposite
to 3,

apllag

(1) = Z 1

(3) 3 4) 6
The mirror image of 45 is ;

1 ¥ (2} g
(3) P 4 S4

24

70.

71

72,

www.Trb Tnpsc.Com

Ger@asiule U Sdd o dar &g
saflir sTsioramfl&ms :

M 4 (2} 5

(3 3 4) 6

GE usmL  @raa( pep 2@Gril
ul L i mymetr GauslGe mi hlemeuamsi £G1g
GarpéaslulGarerar. 3 — @il o
ul (Berer usassdliiE aElT UESSHHh

o GTET ETEANTeneETS SesnmL i,

1y 4 2) 1

(3) 3 (4) &
4S ersruigetr seiremmmy S |
(1) e 2) w=¢
(3) e (4) 5S4
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mmm@
kf;ﬂf}ﬂggﬁg

74.  The water image of 2L is -

13 {2) KL

3 L1 43I

73. The water image of the following figure

I5 2

www.Trb Tnpsc.Com
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- @ AR
0]ojolo;

74. 2L ersiuser Biflud Shbu -
m 13 @ CL

@3 L1 4 3T

75, Ulsbraugni e delsir i S -

(1) @ ) (4)
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Direction : (Question Number 76 to &0)

Find the figure which is not matching with

others.

7h.

2\%| S

D

(1) {2) {3)

{4)

i
AlalalA
(1} (2) (3 (4)
78. I
itk
| {1} (2} (2 (4)
79.
B = U R
{1} {2} (3 (4)

www.Trb Tnpsc.Com

auifipenm © (eflorr evar. 76 ipgmes B0 ausmT)

RarfésuulL HIarE uLrmefis Eamu L
U geng Gepirhes 5 sapD.

76,

78

79.

26

A

D

D\ Y

(3)

(4)

Al

ﬁlﬁl\ﬁ;

(4)

=

=R

(1)

(2)

(3
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£

~

B

(1)

{2)

(3}

(4)

Direction : (Question Number 81 to 85)

[dentify the figure which is the continuation of

the given three figures.

81.

B2,

(D

&

D

€,

G,

G

(1)

(2)

3

(4)

/\

V

{1}

(2)

(3

(4)

80,

www.Trb Tnpsc.Com
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Lo

o

]

(1)

{2)

&)

(4)

awiflgpenm : (eflerw orair. 81 s B5 aueanr)

£l adrer ppsitmy ULRIsEREE o6 EE
aurGesimal UL Seng seim(biildsnph,

81.

82,

27

s,

Q)

D

©

G

©

()

3

(4}

/N

¥

(1)

(2)

(3)

(4
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B3.

B5.

O |0

?

O

Q O
o]o O
(1) (2) (3 (4)
elolo]
(1) (2} (3) 4)
AR X | 7

X

(1)

(2]

(3)

(4)

83.

B5.

www.Trb Tnpsc.Com

% | X

[ ] o g
7
&
2] O
i O O
{1 (2} (* (4}
&lolo|
o lalo| o]
{1 (Z) 13) (4)
5 :

X

X

{1}

(<)

(&)
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Direction : (Question Number 6 to 90)

Figures A and B are rolated in some manner, By
the same relationship figures C and D are
connected. Choose the figure 1D from the options
(1) {2). (3) and (4).

www.Trb Tnpsc.Com

ICODE[VIII] 1 [2Z0 ]

aufigpenm ; (aflewm ereder. 86 gpme 90 auanr)

Lo _rhismeir A wiigih B gy fluene sy Qam S
2 eirare. 255 Glgm mild L st C wign D
Sy Fwswa @& guruiisr, uld D —ilmer
Uit (1), (2), (3) whmrb (4) -y
G i@ Ehaa.

86. =5 O J:| ,
A B C D
J|o|0O]A
(1) (2) {3) 14

B7.

!

B,
= QHE ?
A B C [
=
1 |O|0]|A
(L (2) {3) {4)
BT, | |
oo ¢ |
A B £ [
| |
o [oe
(1) (2) (3) (4}

NEE

it

(2}

(3)

(4)
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BE.
A | [al || C
A B C D
A =[G
i1) (2) {3) {4)
89,
E = S ?
A B C D
W o S e
(1) (2) (3) ()
a0,
A A 2
A B . ]
PR
| M ]
{1) (2) (3) (4}
=olo-

an
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‘l /\ ‘ A ?
A B C o
A | = | 2] ] g
1) @ @ (4)
E 3 S ?
A B C D
W nJ S I
(1) @ e (4)
Alalm] -
. B = D
z]ElEl®

(1)

(2)

(3)

-plo-

(4)
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